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The average of ten numbers is 6, If each number is multiplied by 12, then
what will be average of the new set of numbers?
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The salaries of Arjun, Vikram and Vijay are in the ratio 2 : 3 : 5. If increments of
15%, 10% and 20% respectively are allowed in their salaries, then what will be

the ratio of there new salaries?
Sofz) 4+ wviKk 1T
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A and B together can do a piece of work in 6 days. If A alone can complete the
same work in 10 days, then in how many days can B alone complete that work?
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Monish covers two-thirds of a certain distance at a speed of 4 km/h and the
remaining part at a speed of 5 km/h in 1 hour 24 minutes. Find the total
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A man, a woman and a boy can do a piece of work in 2, 3 and 6 days
respectively. To complete the work in half day how many boys are need

to help 1 man and 1 wo ?
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Two right circular cylinders A and B have radii in the ratio 5 : 2 and their
heights in the ratio 7 : 5. Find the ratio of curved surface areas of curves
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If X° + (1/x%) = 23 and x > 0, then what is the value of x + (1/x) ?
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Which of the following numbers is the terminating decimal?
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Tap A can fill a cistern in 18 minutes, B can fill it in 36 minutes and C in
94 minutes. Tap A opened for 1 minute after that tap B was opened for 4
minutes after that, tap C is opened. What is the total time (in minutes)

required to fill the tank? i ) ( /—Q b/
6 ¢x ~|
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The efficiency of Ram is twice that of Rahim. Ram can Complete a work
iIn 6 days. In how many days will Rahim complete the same work?
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